
PAP Geometry Notes  Name:_______________________________ 
Chapter 11 - Circles 

11.5 – Tangents and Secants 

 

** A tangent is a line that intersects a circle at exactly one point. ** 

 

A tangent segment is a line segment formed by connecting a point  

outside of the circle to the point of tangency. 

**name the tangent segments associated with circle O.  

 

The Tangent Segment Theorem states that if two tangent  

segments are drawn from the same point on the exterior  

of a circle, then the tangent segments are congruent. 

**What can you conclude from circle O? 

 

 

 

Example 1:  

In the figure,    ⃡            ⃡     are tangent to circle W and           Calculate        

 

 

 

 

 

 

 

 

 

 

 

Example 2: 

In the figure,    ⃡    is tangent to circle M and            Calculate        

 

 

 

 

 

 

 

 

 

 



** A secant is a line that intersects a circle at exactly two points. ** 

 

A secant segment is a line segment formed when two secants intersect outside a circle. A secant segment 

begins at the point at which the two segments intersect, continues into the circle, and ends at the point at 

which the secant exits the circle. 

**name the secant segments associated with with circle O.  

 

 

An external secant segment is the portion of each segment that lies on the outside of the circle. It begins at 

the point at which the two segments intersect and ends at the point where the secant enters the circle. 

**name the external secant segments associated with with circle O.  

 

 

The Secant Segment Theorem states that if two secants intersect  

in the exterior of a circle, then the product of the lengths of  

the secant segment and its external secant segment is equal to  

the product of the lengths of the second secant segment and its  

external secant segment.  

 

Find x. 

 

 

 

 

 

The Secant Tangent Theorem states that if  a tangent and a secant intersect in the exterior of a circle, then the 

product of the lengths of the secant segment and its external secant segment is equal to the square of the 

length of the tangent segment.   

 

Find x. 
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